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Cryoballoon or Radiofrequency Ablation
for Paroxysmal Atrial Fibrillation
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A Cryoballoon Ablation of Pulmonary Vein

Left Atrium Access Route

Cryoballoon




' B Radiofrequency Current Ablation of Pulmonary Vein

Left Atrium Access Route

Figure 1. Catheter Ablation Methods.

Panel A shows the cryoballoon system, a single-step approach in which a balloon delivers subzero temperatures to
the pulmonary-vein antra. Panel B shows the radiofrequency catheter ablation system, which uses heat-energy transfer
to tissue and delivers a series of point-by-point connected lesions with assistance from a three-dimensional naviga-

tional system.
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Hazard ratio, 0.96 (95% Cl, 0.76-1.22)
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B Comparison of Catheters
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First-generation cryoballoon 90 83 58 42 36 32 30 24 21 15 8
Second-generation cryoballoon 279 251 183 151 128 99 76 45 35 19 4
First-generation RFC 284 260 187 151 121 104 B4 54 42 23 10
Advanced-generation RFC 93 90 55 40 28 15 9 4 2 1 0
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C Primary Safety End Point
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Cryoballoon 374 323 293 261 229 189 159 117 94 55 121
RFC 376 315 292 247 215 176 146 110 &7 52 27
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